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A 2RSS
I BTNY BH (LY
Hel: 222D Y ASHYE (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
ORAZ)| S4IR3
20,0002 %4 A* 122 960
O2AZXl LEA0IT0| B2
50,0002 %5 A% 122 3,000
O0IS4! ZZoHH2: 2Y
5,000,000 % 14! 5,000
301 LBHEXZ 20,000 20,000 0
14 JIEt2 A2 20,000 20,000
OYF 2YEAl 2 20,000,000 % 14! 20,000
308 XHXISHHISOIA 200,000 200,000
07 XSRS 2 200,000 200,000 0
OZA=cAZNEII2
200,000,000 x 14! 200,000
401 A& H| 2= THY| 38,400 104,000 65,600
01 AlZH] 38,400 104,000 65,600
OO JY| 600,000 * 144 A 8,400
OEJ| Zaazotye &X|
30,000,000 %142 30,000
ZZAE L 499,000 272,000 227,000
201 LEr2%| 102,000 84,000 18,000
01 AF22t2IH] 20,000 20,000 0
OYFAl 22HH3IE AT 201 e 29
20,000,000 %14 20,000
03 ALY 82,000 64,000 18,000
O=LHQl 22 ol B0l
10,000,000 %43 40,000
ORYEs 2284 29
6,000,000 %43 24,000
OTs 22822 2Y
6,000,0002 %33 18,000
207 AN 200,000 0 200,000
01 i Eo| 200,000 200,000
OYFAl 2R3 ZEHY AP2A
200,000,000 * 14! 200,000
301 LBHEXZ 118,000 128,000 10,000
14 JIEt2 A2 118,000 128,000 10,000
OREE OIHMENLS A HLOIA
CIMIEIE XI& 20,000,000 % 14! 20,000
OYZxg &0HE)| 2ol T2 29 X
5,000,000 % 1Al 5,000
OSHHIZHZ2H SXISBAF QIMIEIE XIR
40,000,000 %14 40,000
OZYY "HYR" DM XARBE0 XY 13,000
—NEHA 28| X1
3,000,000 % 14! 3,000




A 2RSS
M DB S (23U BY)
ool =S Y ASIHYE CEEEED
S - B - ORI(3]H) - HISAR - BaS 01l kot ] HIDE2
—EIAl - Aot 2| A
3,000,0002* 14! 3,000
— =8| X9 5,000, 00021 4! 5.000
—X&yl X 2,000,000 %14l 2,000
oW 2| Y& EWZ2IY X
40,000,0002*14] 40,000
307 QI2H0I& 79,000 60,000 19,000
02 QIZFHAMAIRIE R 79,000 60,000 19,000
OYZ=AEIEN HASH(BES 90%)
40,000,00024*14] 40,000
OME I ZSINEH (XS 40%)
10,000, 0002 *14! 10,000
O&HINS LS0| ME(BXS 90%)
9,000,0002*14! 9,000
O0fgz=2t S m2g 2
20,000,00024% 1Al 20,000
DS 10,000 16,000 6,000
307 QI2H0I& 10,000 10,000 0
02 DIZFEMARIEE 10,000 10,000 0
Ozzolz 24 00
10,000,00024* 14! 10,000
DO 29 24,740 24,740
201 2ere | 12,540 0 12,540
01 AlR2t2lH] 12,540 12,540
OSSN HIXIAAIRE] 2
70,0002 %3 %23 420
OSSIBUN LA DB BEC KA
70,0002 22 *123] 1,680
0220 ol S|
150,000 %23]* 122 3,600
OZZOHHA 22 6,840
—2HROHAA FAD| el 8Y
40,0003 A 12& 1,440
—2ROHYA ARD 22
100, 00024670 A 600
—BROHYA SEDU(HAEE S)
400,00021 674 A %23 4,800
301 LerEAZ 7,200 7,200
TENCEES] 7,200 7,200
OonzEEed 6,480
—AIGIR Y 23S
90,00021+402*135] 3,600
—2J| 3o HAX 24l
8,0002*40 43| 1,280
—0S BAX A XY
20,00021+40 2 *23] 1,600
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BN SH(SEHUTY/ )
BPED U ABHL

S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
OZHEHSA BX ol
90,0002 %2 <2223 720
401 AN AHI 220 5,000 0 5,000
01 Al&H] 5,000 5,000
OTHOHIA 2K B4
1,000,000 *57H A 5,000
EENEEEEEEEENE] 105,000 80,000 25,000
307 2I2H0I & 105,000 80,000 25,000
02 QIFAAAIIE X 25,000 0 25,000
OB EI5| AlH| X (BEE FHH)
25,000,000 * 14! 25,000
03 QIZIHRIH B 2HHIE X 80,000 80,000 0
OBEOUZ AR2 2F(2X8 FNH)
80,000,000 * 14! 80,000
ZIZAHIA AESZPLAIR(E ZEXIH) 500,000 500,000 0
308 RHXISHHISOIA 500,000 500,000
11 I ZSOHEH B AR RIE A 500,000 500,000 0
OBZAHIAAE BHWS ALY
500,000,000 * 14! 500,000
ESRUSSA 2ZYENL L SS0BIE 50,000 50,000 0
308 RHXISHHISOIA 50,000 50,000
07 REXISHHIZIRES 50,000 50,000
OZSRUESAT 2ZHENL L SSOBHIE
50,000,000 * 14! 50,000
SEXNLHNS5] 2FAEINL L SS0PIE 25,000 25,000 0
308 RIXISHHISOIA 25,000 25,000 0
07 RIXISHHZIRE S 25,000 25,000
OSSXLNSs 2YAENL L SSOPIE
25,000,0002* 14! 25,000
QEWLE 2H2ue| 686,000 636,000 50,000
201 LB 60,000 20,000 40,000
01 AF22t2IHI 10,000 0 10,000
O¥Fs QEMLZ 22IRE 28H| AN 2
10,000,0002* 14! 10,000
03 BAL2H 50,000 20,000 30,000
OYFs QEMLZ HLUHAEIY FX
50,000,000 %13 50,000
401 NI 220 626,000 596,000 30,000
01 Al&H] 626,000 596,000 30,000
O¥Fs QEWLE A B5
8,000,000 122 96,000
OYF5 QEXLE TF AX L 212
100,000, 00024 14! 100,000
OZFs QEBLE 02I0] S0IME =4
50,000,0002* 14! 50,000
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SN BRTED
HI: DAY B (25U
ol 2AAES L ASHY (CHo: X 2l)
SN - BB - S(3H) - MISAY - BAS ollArol ] MimE=CT
Al 363, 160
401 AIEHILELE0HY] 1,037,600 0 1,037,600
J| 518,800
= 155,640
Al 363, 160
01 Al&H] 1,037,600 0 1,037,600
ONHEB2E NABBIL A
1,037,600,000& 14! 1,037,600
J| 518,800
& 155,640
Al 363, 160
(Z)TAIZEoANZE S=HAIY =X 24,000 24,000 0
== 4,000
Al 20,000
308 XIXISHMSOIA 24,000 24,000 0
& 4,000
Al 20,000
07 RIXISHIZ2IREE 2 24,000 24,000 0
OF===H BRNEH S IS &
24,000,000 * 1A 24,000
== 4,000
Al 20,000
(D)|UIAD MAISA AEJHE 2 X2 27,000 27,000 0
& 8,000
Al 19,000
307 QI2t0| M 27,000 27,000 0
== 8,000
Al 19,000
02 Q2B AAIE E X 27,000 27,000 0
OSUIAD HHSA BZAE N U 29
27,000,000& %14 27,000
c 8,000
Al 19,000
(Z) LA ZAMENLXIR 40,000 40,000 0
L= 12,000
Al 28,000
308 AXISHHSOI™ 40,000 40,000 0
= 12,000
Al 28,000
11 2| 2SO HSHE AN AEAIZ Y] 40,000 40,000 0
OELIAZZAZ WL XA
40,000, 0002 * 1A 40,000
& 12,000
Al 28,000




SN BRTED

NI BN B4 (2HUB/B)

ool BEEY 9 A (cre): &i2)
SN - BB - S(3H) - MISAY - BAS ollArol ] MimE=CT
(2)AIZ E20HE XA 30,000 0 30,000

c 9,000
Al 21,000
201 LBtEHH| 30,000 0 30,000
= 9,000
Al 21,000
01 AtR2Zt2|H| 30,000 0 30,000
OB 220BIE XA
30,000,000& % 14! 30,000
o= 9,000
Al 21,000
()2 A2NEA SH(22AI) (HEAIR) 454,000 437,661 16,339
& 67,000
Al 387,000
301 LEtEX 2 454,000 437,661 16,339
= 67,000
Al 387,000
11 S#HAIAHIXIR =2 454,000 437,661 16,339
OSsBHAAN 2 N
454,000,000& x 1A 454,000
& 67,000
Al 387,000
()2 ANEA SH(SHEIMEAIY) (HSAIS) 22,000 24,314 N2,314
= 4,000
Al 18,000
201 LBetEAH| 22,000 24,314 N2,314
< 4,000
Al 18,000
01 AtR2Zt2|H| 22,000 24,314 N2,314
O=3t2Zol &AL SHEIHE A
22,000,000 * 14! 22,000
& 4,000
Al 18,000
(Z) 2 2ZHEA AHEE R KRA(HEAIY) 5,000 6,079 A1,079
== 1,000
Al 4,000
201 LBt AH| 5,000 6,079 A1,079
= 1,000
Al 4,000
02 3240l 5,000 6,079 A1,079
O2S2ZHEA MollEE =
5,000,000& x 1A 5,000
== 1,000
Al 4,000




A 2RRED

HE: BZAY S4(2IU2Y/ DY)

Helr 2AZFEE R ASHE (EERSED)
SA - A SR(B) - AIRAIY - BAS o v ] bl D2
(C)ASZAT T2 2 50,000 30,000 20,000

[ 15,000
Al 35,000
201 LBt2 Y| 50,000 30,000 20,000
[ 15,000
Al 35,000
03 A2 | 50,000 30,000 20,000
Ol ALWT2 N 29
50,000,000 % 1Al 50,000
[ 15,000
Al 35,000
(D)HE= M2 50,000 50,000 0
[ 15,000
Al 35,000
307 QI2H0IA 50,000 50,000 0
[ 15,000
Al 35,000
02 OIZFHMAIRIEE 50,000 50,000 0
OFSFHE22N
50,000, 00094 % 1Al 50,000
[ 15,000
Al 35,000
SIAZEH SH(2L2Z/2D) 2,216,000 1,053,000 1,163,000
NEESIEVEIEET 900,000 27,000 873,000
AEAZZI QIS =TXI 900,000 0 900,000
307 SI2H0IA 900,000 0 900,000
04 QIZFHATAIIE X 900,000 0 900,000
OYZ=ZI|QIAER 2O0l W (2XS 90%)
900,000,000 % 1Al 900,000
A2 Tt 1,316,000 1,026,000 290,000
BB MHISSEM I 540,000 540,000 0
308 XXIHHIE0IA 540,000 540,000 0
11 2 ZE0CHEIZ AEIEr AL 540,000 540,000 0
OY=st= 4|25 =H|
540,000,000 * 1Al 540,000
A A EZT K| 180,000 180,000
308 XHXISHHISO0IA 180,000 180,000 0
11 2 ZE0IHEZ AR S[Er AL 180,000 180,000
OGFAUMAMEZH 180,000,000 %1 Al 180,000
EEEERINCTREIESE 81,000 81,000
308 XHXIHHIE0IA 81,000 81,000 0
11 2O 2SOICHERE A E I E AR 81,000 81,000




SN 2ZTED
HH: SIBULEN S (SHL2Z/ )
el FESeta A (Crel: &)
S - EE - 9I(30) - HIRAIS - BAS ol &kt ] B2t
OYFREILIRL2IEA
81,000,0002 14! 81,000
EEINESINE] 225,000 225,000 0
308 XHXIHHISOIA 225,000 225,000
11 B 2SO HEHE A= SEAIG] 225,000 225,000 0
OYFABEA 225,000, 00024 % 14! 225,000
XA HESA 290,000 0 290,000
308 XHXIHHISOIA 290,000 290,000
11 2SS0 HEE A= EAID] 290,000 0 290,000
ORIV 290,000,00024 %144 290,000
22T (25U 2T/ ) 476,700 5,208,474 4,731,774
B AR R X RIHEE 19,300 17,740 1,560
AHATIEY €92 TAAY 18,300 16,740 1,560
201 LEH2 ] 3,000 1,440 1,560
02 3229 3,000 1,440 1,560
O8stx 4 250,000 %30 A 43 3,000
307 EIZHOI™ 15,300 15,300
02 QIZFHAAIIE T 15,300 15,300 0
OABARIZZ S2AD| ASS0|(EXS 90%)
17,000, 0008 % 141%90/ 100 15,300
AJEHRHZHOCH2 2N ALY 1,000 1,000 0
201 LEH2 ] 1,000 1,000
02 3322 1,000 1,000 0
Ost=34EHEr 3] o13]Y|
1,000,00024% 14! 1,000
BROITeL XA 457,400 528,594 AT1,194
222 HOT| 457,400 528,594 AT1,194
101 IAH] 39,600 8,7% 30,806
04 JIIH2ENESS 39,600 8,7% 30,806
ORHil2 =xt2eled
1,100,0002x2Z 02 19,800
ORAA =xr2e| Q8
1,100,0002x2Z 0 19,800
201 LEHR ] 60,800 14,800 46,000
01 AR 2H 8,000 1,000 7,000
OSAAZBI HARE 2
500, 00024465 3,000
O0IR3¢ 2% HIE s 7
1,000,00024% 14! 1,000
ORH0I2 X122l ANEE S 7Y
1,000,000 2% 2,000
ORAA ZxH2e| ANEE S Y
1,000,00084%22 2,000
02 B2 52,800 13,800 39,000




2A: 2BIED
HH: RNANL(SIL2Z/2R)
Chelr 2toloetay (crel: M)
SA - FH . ERI(B) - HIRAY - A il ko ] HI D=2t
ORAANTZA =0 DR
100,000 #4 7 A% 122 4,800
ORSAZZR 240 HIQ3
2,000,0002* 128 24,000
ORSARZZR 2A2IAF MIIQBOIRS 28
550, 0008 * 122! 6,600
0202122 &R
80,0002 * 122! 9,600
OZZHOIRY TIIL2(IIRS, HRLZAIAL,
SMEXIAIE) 350,000 *12& 4,200
OFH7= (32 ZF2XY HJ|Q2
300,0002 12 3,600
401 AT L= 357,000 505,000 148,000
01 AlZH] 357,000 502, 120 A145,120
SAARBX AES 22
210,000,000 %1 4! 210,000
020228 AlES(L2Xel &, FHHEI2I0L
BooiAl A&z
15,000, 00021% 14! 15,000
OMEISMBBTIIBIAIY AlE 22
30,000, 0008 %14l 30,000
O=ZEIRY L FHZ9 Al82e|
30,000, 0002414l 30,000
O=H7= g32 ALzl
12,000,00024% 14! 12,000
OR40tS Haal 83
60,000, 000241 Al 60,000
AZ S| MR (22 /A= | 0FOrH ) 610,634 611,803 A 1,169
= 173,118
[ 80,526
Al 356,990
AZS[ MO 2] 606, 134 607,303 1,169
= 173,118
[ 79,176
Al 353,840
EPSPSIEIEIE] 159,898 192,867 732,969
201 YEF2 | 52,920 26,110 26.810
01 AlR22ld] 42,220 16,260 25,960
OBtRI| AZSHY 222 M
1,0002*2Z+1,0005 2,000
OSAHAMSIH QHHX
3,000 1Z*4005 1,200
OAZHZIIRY (SLTYRIZIIZS) SR}
FAAE S MY FI=
7,00021*5002 3,500
OAIZOIR RS &40 &
60,00024x35+43] 20
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SA BRIED
I AIZQIMDIR|(B2/AIZO|OLN)
ohelr AISPIMA 2 CEEEED
SN - B SR - NBAR - BYS ofl Ao ] HIS2
T AOINAE (22 AMZAE S2ds 908
50,0002 %25 24%235] 2,500
14 J|EFR AR 85,218 84,168 1,050
O20ICIAH| REAIE ) BA2
20,00021%1021* 12 2,400
OMAA MEDS LAY
300, 000263 1,800
OAHIRAIZ () QM2AIR ¢
50,0002 x2524x452 56,250
OAMLIOZAIR gt
50,000 21*3% %242 3,600
ODHAA(FMETH XFAL) MYD|=E X
88021% 100H*300H Ax 12 3,168
OZZAMAHIA TIH 12 AMBEXI
(0 - DI=A) 70,00024%2000H 2 14,000
OLBSAIE CIRUHISEHE=R0], 20, 5201,
20f) £ X
80,00021+5Z+ 1004 & 4,000
307 IZHO[A 10,000 10,000 0
05 DI2FRE= 10,000 10,000
O0f2I0| A2 NIME XIHSFIAL XI2
10,000
—SHIZ AB2 HAHS YF AIFL DF(S2)
1,500,000 %53] 7,500
—XIOISHIE OIS BADES $I8 Q2| Ag
10,00021%250% 2,500
(2)AZEZALS 5.3% 5.3% 0
2 2,698
Al 2,698
201 YBr=gy]| 1,7% 1,76 0
2 898
Al 898
02 2==29] 1.7% 1,796 0
OAIZOIH | EEEDR| ALR2
37, 4002I*4 % * 122 1,7%
2 898
Al 898
202 Ot 1,200 1,200 0
2 600
Al 600
01 =Kol 1,200 1,200 0
OAIZOHERIZ| AN =X OfH|
60,0002 %22+ 103 1,200
2 600
Al 600
301 YErg A= 2.400 2.400 0
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